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Classicals and Keynesians
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“[...] public works even of doubtful utility may
pay for themselves over and over again at a
time of severe unemployment, if only from

the diminished cost of relief expenditure,
provided that we can assume that a smaller
proportion of income is saved when
unemployment is greater; but they may
become a more doubtful proposition as a
state of full employment is approached.

John Maynard Keynes




“[T]he basic flaw of Keynesianism is this: you
have to ask where the government’s money
comes from in the first place. It can either

tax, borrow, or print money. If the
government taxes, then that’s less money in
people’s pockets, so every dollar that the
government spends is balanced by a dollar not
spent somewhere else.”

Classicals, New Classicals and Keynesians
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Cash has been piling up on companies’ balance-sheets since before the crisis
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Satoshi Kambayashi

MONETARY stimulus gets you only so far. In America, third-quarter profits and revenues for
companies in the S&P 500 index appear to have fallen year on year for the first time since
2009, according to Thomson Reuters. Profits for roughly half the firms in the European
Stoxx 600 have fallen short of expectations so far.




Loan growth, US

20 6
——— Household
15 1/ \ S
= Business
-4
10 1N\

- |nterest rate (right L 3
axis)*
N

Source: Federal Reserve. Interest rate refers to 3-mo
commerical paper rate

The consumption function and the
marginal propensity to consume

C=A+bYy

Consumption

—

Disposable income




The multiplier

Y=C+G+I
Y=(A+bY)+G+1

— Alis the y intercept, or spending when disposable
income is equal to zero.

Y-bY=A+G+I
Y(1-b)=A+G + |
Y=(A+G+1/(1-b)
The multiplier is 1/(1-b)

— For example, G increases by 100 and b=0.8
— then Y increases by 500, not 100

Permanent income hypothesis

Consumption in period 2

Consumption in period 1
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Fiscal consolidation forecast




